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Name \V\\b . umw\ ¥o. 00 E,».\ I can determine the operation needed to solve a word problem.
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DIRECTIONS: Read the Eo& problem. Cross out any extraneous information. Circle the operation you need to use to solve the

problem. You DO NOT need to actually solve the problem!
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1) There are five calories in a candy bar. How many calories are ﬂ:mﬂm;:
three candy bars ?
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2 ) Keith had Pokemon cards and ﬁﬁ\mmuym@mu&. He gave five away)) He
now has two Pokemon cards left. How many Pokemon ca wﬁm_\ﬁ <<_5v

3 ) Fred found 3 seashells and 7 starfish on the beach. He gave 2 of the
seashells to Tom. How many seashells does Fred now :m|<|.m(.v

4 ) Sam bought four hundred ninety-five crayons that came in packs of fifteen.
There were three colors of crayons. How many packs of crayons did Sam buy?
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mv,ﬁ:mﬂmmﬂmﬁoa\-mmé:nz_aﬂm:w:ﬁ:mn_mmmﬂoo:emmnjmﬂcam:ﬁéz_@m.ﬁ —
forty-one pencils and twenty-three erasers. How many pencils will the teacher give?

mvﬁjm_\mmﬁmwmoﬁcam:ﬁmm.ﬁmmn:oo_.H_nmmn:n_mwmﬂooa:o_amwowﬁcam:nm‘
how many classrooms are needed at the school?

w:.:maEmﬂmmﬁoﬁm_oﬁwgcmmmcm:@mBmm_:.%mmmmmo:.?mmmmmo:mm
played for 3 months. How many baseball games were played each month, if
each month has the same number of games?
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mv,ﬂjmﬂmmﬂmw\_Uimqmmmnc?m:.m_f:.%mUm_\_ﬁvmﬁwéoﬂxmﬁmém__u_msﬂi
more pine trees today. How many pine trees will the park have when the +
workers are finished ?



